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NEW QUESTION 1
- (Exam Topic 2)
Your customer is moving to Google Cloud. They have many teams, each working on many projects. How should they organize resources?

A. Let each team have one shared Folder with multiple Projects within it so that there is a separation of concerns.
B. Let each Project have one Folder so that there is a clear separation of concerns.
C. Let each team have an Organization so that they can entirely manage themselves with their own identity.
D. Let each team have one shared Project so that it is easy to manage.

Answer: A

Explanation: 
The recommended approach is to have folders corresponding to teams/departments and they manage the projects within that.
-> Sharing a single project will cause a conflict of resources, billing, concerns, etc.
-> One folder per project is unnecessary overuse of abstraction/grouping.
-> Teams and projects in a company should ideally be centrally managed in a single Organization.

NEW QUESTION 2
- (Exam Topic 2)
You're negotiating SLAs with a customer. You have communicated that there will be a 99.99% (four 9s) availability for the service you are providing. Every aspect
of the service is under your con-trol. They want to modify the reliability to 99.999% (five 9s). What do you tell them? (Choose two answer)

A. Yes, that could be possibl
B. If yes, there will be a significantly higher charge be-cause the effort is significantly higher too.
C. Yes, that is possible, but there will be an additional charge of 9% for the service because that is the additional effort required.
D. Yes, that is possibl
E. There is hardly any difference to provide another 0.009% availability.
F. Ask them for the reasonable downtime they are willing to absor
G. If it is more than 60 minutes in an entire year, explain how the current SLA meets that requirement.

Answer: AD

Explanation: 
In many cases, customers might not know the implications of the 9s with respect to scheduled maintenance, upgrades, etc. It's possible that they are holding
unnecessary expectations that significantly exceed their
requirements.
-> Even though 0.0009 % increase it looks like a small increment, an addition of a single 9 reduces the possible downtime by 10 times. So the effort is often much
greater.
Reference link- https://en.wikipedia.org/wiki/High_availability

NEW QUESTION 3
- (Exam Topic 2)
You are a program manager in a company you need to submit a bare metal solution order for a se-cure, high performance connection with a low-latency network
fabric. What network information you need to submit the order to Bare Metal Solutions.

A. IP Ranges for example Client IP Address range used for communication between your Google Cloud and Bare Metal Solution environments.
B. Google Cloud Project Id that you are using with your bare metal solution environ-ment.
C. Total number of VLANs you need in your Bare Metal Solution Environment.
D. All of the above

Answer: D

Explanation: 
What Bare Metal Solution provides
Bare Metal Solution is a managed solution that provides purpose-built HPE or Atos bare-metal servers in regional extensions that are connected to Google Cloud
by a managed, high-performance connection with a low-latency network fabric.
With Bare Metal Solution, Google Cloud provides and manages the core infrastructure, the network, the physical and network security, and hardware monitoring
capabilities in an environment from which you can access all of the Google Cloud services. The core infrastructure includes secure, controlled-environment
facilities, and power.
The Bare Metal Solution also includes the provisioning and maintenance of custom, sole-tenancy servers with local SAN, and smart hands support.
The network, which is managed by Google Cloud, includes a low-latency Partner Interconnect connection into the customer Bare Metal Solution environment.
The available Google Cloud services include private API access, management tools, support, and billing.

NEW QUESTION 4
- (Exam Topic 2)
A customer has a tens of applications that are dependent on Oracle databases in their on-premise data centers. The customer wants to migrate to Google Cloud.
Their long term goal is to move to other cloud native database technologies. What options do they have to initially move their data?

A. Migrate to a Bare Metal server.
B. Migrate to Cloud SQL.
C. Since there is no hosted Oracle solution, leave the Oracle data on-premise while doing analytics on Google Cloud.
D. Containerize Oracle and run it using Cloud Run.

Answer: B

Explanation: 
The Bare Metal solution is the recommended approach. You can deploy Oracle capabilities like clustered databases, replication, and all performance features at
licensing costs that are similar to on-premise systems
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https://cloud.google.com/architecture/migrating-bare-metal-workloads

NEW QUESTION 5
- (Exam Topic 2)
What cloud deployment model is generally deployed between organizations such as non-profits, hospitals or even enterprises that share similar requirements or
interests?

A. Hybrid
B. Community
C. Private
D. Public

Answer: B

Explanation: 
Community Cloud – The cloud infrastructure is planned for selective use by a particular community of consumers from organizations that have mutual interests like
security needs, policy, and compliance considerations.
Reference link- https://csrc.nist.gov/glossary/term/community_cloud

NEW QUESTION 6
- (Exam Topic 2)
A customer in the European Union region is very clear that their data should not go outside the Eu-ropean Union. Their end users are spread all over the European
U. They have to choose a storage option that serves all the users within Asia via web browsers as quickly as possible. Which storage option will work for them?

A. Cloud Storage with a single region that is known to be within the European U
B. Cloud Filestore is connected to virtual machines which are guaranteed to be within the European U
C. Cloud Storage with the multi-region option of European U
D. Cloud Storage with the dual-region option of European U

Answer: C

Explanation: 
Multi-region option will use multiple datacenters that are within the European Union. More regions will also help with lower latency since users are spread across
the European U.
https://cloud.google.com/storage/docs/locations#considerations

NEW QUESTION 7
- (Exam Topic 2)
Which of the following statements describe the features of a preemptible VM in-stance? (Select Three Answer)

A. Instance is alive for no more than 12 hours
B. Can be pre-empted with a 30 minute notice
C. Can be pre-empted with a 30 second notice
D. Discounted Significantly
E. Instance is alive for no more than 24 hours
F. Can use free tier credits
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Answer: CDE

Explanation: 
Instance is alive for no more than 24 hours, Can be pre-empted with a 30 second notice, Discounted Significantly.
Preemptible VM is an instance that you can create and run at a lower cost than normal instances.
However, Compute Engine might stop (pre-empt) these instances if it requires access to those resources for other tasks. Preemptible instances are excess
Compute Engine capacity, so their availability varies with usage.
Live at most 24 hours Can be pre-empted with a 30 second notification via API and are Discounted significantly
Reference link- https://cloud.google.com/compute/docs/instances/preemptible

NEW QUESTION 8
- (Exam Topic 1)
A fitness band company is continuously ingesting data from millions of its consumers. Different kinds of data based on time, like location, heartbeat rate,
temperature, movement, etc. are connect-ed. They need a high throughput database that can write data very fast. Since their users are spread across the world,
they need the database to be geographically scalable. Consumers also want to see near-real-time visualizations of their activities. Which of these databases would
be a good fit?

A. Cloud SQL
B. Bigtable
C. Spanner
D. Firestore

Answer: B

Explanation: 
Bigtable is the best suited for time series data. It also has high read-write throughput and ability to scale globally.

NEW QUESTION 9
- (Exam Topic 1)
Your organization needs to establish private network connectivity between its on-premises network and its workloads running in Google Cloud. You need to be
able to set up the connection as soon as possible.
Which Google Cloud product or feature should you use?

A. Cloud Interconnect
B. Direct Peering
C. Cloud VPN
D. Cloud CDN

Answer: A

Explanation: 
Private Google Access for on-premises hosts provides a way for on-premises systems to connect to Google APIs and services by routing traffic through a Cloud
VPN tunnel.
Reference: https://cloud.google.com/vpc/docs/configure-private-google-access-hybrid

NEW QUESTION 10
- (Exam Topic 1)
Your company’s development team is building an application that will be deployed on Cloud Run. You are designing a CI/CD pipeline so that any new version of
the application can be deployed in the fewest number of steps possible using the CI/CD pipeline you are designing. You need to select a storage location for the
images of the application after the CI part of your pipeline has built them.
What should you do?

A. Create a Compute Engine image containing the application
B. Store the images in Container Registry
C. Store the images in Cloud Storage
D. Create a Compute Engine disk containing the application

Answer: B

Explanation: 
Reference: https://cloud.google.com/container-registry/docs/pushing-and-pulling

NEW QUESTION 10
- (Exam Topic 1)
Which of the following is/are true about Bare Metal Solutions?

A. Enterprise-grade deployment platform
B. All your existing investment in tooling and best practices will work as is
C. Continue to run any version, and feature set, any database option, and any cus-tomizations (patchsets)
D. All of the Above.

Answer: D

Explanation: 
Bare Metal Solution for Oracle
Bring your Oracle workloads to Google Cloud with Bare Metal Solution and jumpstart your cloud journey with minimal risk.
- Continue to run any version, any feature set, any database option, and any customizations (patchsets)
- Enterprise-grade deployment platform
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- High availability with Oracle RAC
- Works with any application, any Oracle versions
- All your existing investment in tooling and best practices will work as is

NEW QUESTION 15
- (Exam Topic 1)
Your organization runs an application on virtual machines in Google Cloud. This application processes incoming images. This activity takes hours to create a result
for each image. The workload for this application normally stays at a certain baseline level, but at regular intervals it spikes to a much greater workload. Your
organization needs to control the cost to run this application.
What should your organization do?

A. Purchase committed use discounts for the baseline load
B. Purchase committed use discounts for the expected spike load
C. Leverage sustained use discounts for your virtual machines
D. Run the workload on preemptible VM instances

Answer: C

Explanation: 
The idea of the Sustained Use discount is that the longer you run a VM instance in any given month, the bigger discount you will get from the list price.
Reference: https://www.parkmycloud.com/blog/google-sustained-use-discounts/

NEW QUESTION 20
- (Exam Topic 1)
Your manager wants to restrict communication of all virtual machines with internet access; with resources in another network; or with a resource outside Compute
Engine. It is expected that different teams will create new folders and projects in the near future.
How would you restrict all virtual machines from having an external IP address?

A. Define an organization policy at the root organization node to restrict virtual machine instances from having an external IP address
B. Define an organization policy on all existing folders to define a constraint to restrict virtual machine instances from having an external IP address
C. Define an organization policy on all existing projects to restrict virtual machine instances from having an external IP address
D. Communicate with the different teams and agree that each time a virtual machine is created, it must be configured without an external IP address

Answer: A

Explanation: 
Reference: https://cloud.google.com/resource-manager/docs/organization-policy/overview

NEW QUESTION 23
- (Exam Topic 1)
An organization wants to dynamically adjust its application to serve different user needs. What are the benefits of storing their data in the cloud for this use case?

A. Data can be stored in archive for long term access
B. Automatic data cleaning and validation
C. Real-time data ingestion and analysis
D. No data access management required

Answer: C

Explanation: 

By storing their application data in the cloud the organization will be able to gather and analyze user behavior data in real-time. This will enable them to
dynamically adjust their application for different user needs.

NEW QUESTION 27
- (Exam Topic 1)
An organization wants to move from a strategic cloud adoption maturity level to a trans-formational one. How should the organization change the way they scale?

A. None of these
B. Deploy changes when problems arise.
C. Deploy changes programmatically.
D. Review changes manually.

Answer: C

Explanation: 
Because automation is a transformational approach which ensures changes are constant and low-risk.

NEW QUESTION 29
- (Exam Topic 1)
An organization has created an ecommerce website. What data on this website would be considered structured data?

A. Product photographs
B. Product reviews
C. Product descriptions
D. Product ratings score

Answer: 
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D

Explanation: 
Because product ratings are structured because they are numerical scores.

NEW QUESTION 31
- (Exam Topic 1)
Which Google Cloud product can report on and maintain compliance on your entire Google Cloud organization to cover multiple projects?

A. Cloud Logging
B. Identity and Access Management
C. Google Cloud Armor
D. Security Command Center

Answer: D

Explanation: 
Security Command Center is a centralized security and risk management platform for your Google Cloud resources. It is a single tool that offers a variety of
security features including:
* 1. Gain centralized visibility and control
* 2. Discover misconfigurations and vulnerabilities
* 3. Report on and maintain compliance
* 4. Detect threats targeting your Google Cloud assets https://cloud.google.com/security-command-center

NEW QUESTION 34
- (Exam Topic 1)
Your company security team manages access control to production systems using an LDAP directory group. How is this access control managed in the Google
Cloud production project?

A. Assign the proper role to the Service Account in the project's IAM Policy
B. Grant each user the roles/iam.serviceAccountUser role on a service account that exists in the Google Group.
C. Assign the proper role to the Google Group in the project's IAM Policy.
D. Create the project in a folder with the same name as the LDAP directory group.

Answer: C

Explanation: 
Reference:
https://cloud.google.com/blog/products/identity-security/achieving-identity-and-access-governance-on-google-c
Text, letter Description automatically generated

NEW QUESTION 36
- (Exam Topic 1)
Your organization wants to optimize its use of Google Cloud’s discounts on virtual machine-based workloads. You plan to use 200 CPUs constantly for the next 3
years, and you forecast that spikes of up to 300 CPUs will occur approximately 30% of the time. What should you choose?

A. 1-year committed use discount for 200 CPUs
B. 3-year committed use discount for 300 CPUs
C. 3-year committed use discount for 200 CPUs
D. Regular pay-as-you-go pricing

Answer: C

Explanation: 
you can get a 57% discount by agreeing to commit to a 3-year contract. Any usage over the commitment will just be billed at the standard rate. Since they only
need 300 CPUs 30% of the time, will pick answer C so that we are not paying usage off 300 CPUs all of the time. This gives us a discount of 57% for 200 CPU's,
huge cost savings.

NEW QUESTION 40
- (Exam Topic 1)
Your organization runs many workloads in different Google Cloud projects, each linked to the same billing account. Each project's workload costs can vary from
month to month, but the overall combined cost of all projects is relatively stable. Your organization needs to optimize its cost.
What should your organization do?

A. Purchase a commitment per project for each project’s usual minimum
B. Create a billing account per project, and link each project to a different billing account
C. Turn on committed use discount sharing, and create a commitment for the combined usage
D. Move all workloads from all different projects into one single consolidated project

Answer: C

Explanation: 
Turn on committed use discount sharing, and create a commitment for the combined usage
Sharing your committed use discounts across all your projects reduces the overhead of managing discounts on a per-project basis, and maximizes your savings by
pooling all your discounts across your projects' resource usage. If you have multiple projects that share the same Cloud Billing account, you can enable committed
use discount sharing so all of your projects within that Cloud Billing account share all of your committed use discount contracts. Your sustained use discounts are
also pooled at the same time. That is, sustained use discounts are calculated using the total resources across these projects, rather than just the resources within
a single project.
Text Description automatically generated
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Reference link
- https://cloud.google.com/compute/docs/instances/signing-up-committed-use-discounts#sharing_committed_u

NEW QUESTION 43
- (Exam Topic 1)
Your team is publishing research results and needs to make large amounts of data available to other researchers within the professional community and the public
at minimum cost.
How should you host the data?

A. Use a Cloud Storage bucket and enable "Requester Pays.'
B. Use a Cloud Storage bucket and provide Signed URLs for the data files.
C. Use a Cloud Storage bucket and set up a Cloud Interconnect connection to allow access to the data.
D. Host the data on-premise
E. and set up a Cloud Interconnect connection to allow access to the data.

Answer: A

Explanation: 
Enabling Requester Pays is useful, for example, if you have a lot of data you want to make available to users, but you don't want to be charged for their access to
that data.
Reference link- https://cloud.google.com/storage/docs/requester-pays

NEW QUESTION 48
- (Exam Topic 1)
You are a program manager within a Software as a Service (SaaS) company that offers rendering software for animation studios. Your team needs the ability to
allow scenes to be scheduled at will and to be interrupted at any time to restart later. Any individual scene rendering takes less than 12 hours to complete, and
there is no service-level agreement (SLA) for the completion time for all scenes. Results will be stored in a global Cloud Storage bucket. The compute resources
are not bound to any single geographical location. This software needs to run on Google Cloud in a cost-optimized way.
What should you do?

A. Deploy the application on Compute Engine using preemptible instances
B. Develop the application so it can run in an unmanaged instance group
C. Create a reservation for the minimum number of Compute Engine instances you will use
D. Start more instances with fewer virtual centralized processing units (vCPUs) instead of fewer instances with more vCPUs

Answer: A

Explanation: 

https://cloud.google.com/compute/docs/instances/preemptible
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NEW QUESTION 49
- (Exam Topic 1)
Your organization is developing an application that will capture a large amount of data from millions of different sensor devices spread all around the world. Your
organization needs a database that is suitable for worldwide, high-speed data storage of a large amount of unstructured data.
Which Google Cloud product should your organization choose?

A. Firestore
B. Cloud Data Fusion
C. Cloud SQL
D. Cloud Bigtable

Answer: D

Explanation: 
Reference: https://cloud.google.com/bigtable
Cloud Bigtable is a sparsely populated table that can scale to billions of rows and thousands of columns, enabling you to store terabytes or even petabytes of data.
A single value in each row is indexed; this value is known as the row key. Bigtable is ideal for storing very large amounts of single-keyed data with very low
latency. It supports high read and write throughput at low latency, and it is an ideal data source for MapReduce operations.
Bigtable is exposed to applications through multiple client libraries, including a supported extension to the Apache HBase library for Java. As a result, it integrates
with the existing Apache ecosystem of open-source Big Data software.
Bigtable's powerful back-end servers offer several key advantages over a self-managed HBase installation:
Incredible scalability. Bigtable scales in direct proportion to the number of machines in your cluster. A
self-managed HBase installation has a design bottleneck that limits the performance after a certain threshold is reached. Bigtable does not have this bottleneck, so
you can scale your cluster up to handle more reads and writes.
Simple administration. Bigtable handles upgrades and restarts transparently, and it automatically maintains high data durability. To replicate your data, simply add
a second cluster to your instance, and replication starts automatically. No more managing replicas or regions; just design your table schemas, and Bigtable will
handle the rest for you.
Cluster resizing without downtime. You can increase the size of a Bigtable cluster for a few hours to handle a large load, then reduce the cluster's size again—all
without any downtime. After you change a cluster's size, it typically takes just a few minutes under load for Bigtable to balance performance across all of the nodes
in your cluster.
Graphical user interface, text, application, email Description automatically generated

NEW QUESTION 50
- (Exam Topic 1)
Your customer is making a decision on whether to move to Google Cloud. Their key concern is about 10,000 VMs that are part of their IT infrastructure used
across more than 110 applications. They are apprehensive of too many changes at this stage. They want to get to Google Cloud in the easiest way possible with
minimal disruption. What option would you recommend for them?

A. Use Migrate for Anthos
B. Lift and shift the VMs to serverless options like App Engine Flex.
C. Re-architect on-prem to use Kubernetes and then slowly extend and bridge the on-prem data center to the Google Cloud data center.
D. Use Migrate for Compute

Answer: D

Explanation: 
Migrate for Compute Engine’s advanced replication migration technology copies instance data to Google Cloud in the background with no interruptions to the
source workload that’s running.
Text Description automatically generated

https://cloud.google.com/migrate/compute-engine 

NEW QUESTION 54
- (Exam Topic 1)
Your organization wants to migrate its data management solutions to Google Cloud because it needs to dynamically scale up or down and to run transactional
SQL queries against historical data at scale. Which Google Cloud product or service should your organization use?

A. BigQuery
B. Cloud Bigtable
C. Pub/Sub
D. Cloud Spanner

Answer: D

Explanation: 

Reference: https://cloud.google.com/terms/services
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Cloud Spanner is a fully-managed, mission-critical relational database service. It is designed to provide a scalable online transaction processing (OLTP) database
with high availability and strong consistency at global scale

NEW QUESTION 57
- (Exam Topic 1)
Your organization wants an economical solution to store data such as files, graphical images, and videos and to access and share them securely.
Which Google Cloud product or service should your organization use?

A. Cloud Storage
B. Cloud SQL
C. Cloud Spanner
D. BigQuery

Answer: A

Explanation: 
- Google Storage is GCP's version of AWS Simple Storage Service (S3) and an S3 bucket would be equivalent to a Google Storage bucket across the two clouds
Text Description automatically generated

NEW QUESTION 62
- (Exam Topic 1)
Your organization is developing a plan for migrating to Google Cloud.
What is a best practice when initially configuring your Google Cloud environment?

A. Create a project via Google Cloud Console per department in your company
B. Define your resource hierarchy with an organization node on top
C. Create projects based on tem members’ requests
D. Make every member of your company the project owner

Answer: B

Explanation: 
The Organization resource is the root node of the Google Cloud resource hierarchy and all resources that belong to an organization are grouped under the
organization node. This provides central visibility and control over every resource that belongs to an organization.
Reference link- https://cloud.google.com/resource-manager/docs/cloud-platform-resource-hierarchy

NEW QUESTION 65
- (Exam Topic 1)
An organization wants to search for and share plug-and-play AI components which can easily build ML services into their project. Which Google Cloud product
should the organi-zation use?

A. Document AI
B. AI Hub
C. Cloud Talent Solution
D. Recommendations AI

Answer: B

Explanation: 
Because AI Hub is a hosted repository of plug-and-play AI compo-nents. Reference link:- https://cloud.google.com/ai-hub/docs/release-notes

NEW QUESTION 66
- (Exam Topic 1)
Your organization is developing an application that will manage payments and online bank accounts located around the world. The most critical requirement for
your database is that each transaction is handled consistently. Your organization anticipates almost unlimited growth in the amount of data stored.
Which Google Cloud product should your organization choose?

A. Cloud SQL
B. Cloud Storage
C. Firestore
D. Cloud Spanner
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Answer: D

Explanation: 
Features of Cloud Spanner
Reference: https://k21academy.com/google-cloud/cloud-sql-vs-cloud-spanner/ Text Description automatically generated

NEW QUESTION 69
- (Exam Topic 1)
Which Google Cloud product or feature makes specific recommendations based on security risks and compliance violations?

A. Google Cloud firewalls
B. Security Command Center
C. Cloud Deployment Manager
D. Google Cloud Armor

Answer: B

Explanation: 

Reference: https://cloud.google.com/security-command-center
Security Command Center is Security and risk management platform for Google Cloud.
Reference link- https://cloud.google.com/security-command-center

NEW QUESTION 74
- (Exam Topic 1)
Which Google Cloud product is designed to reduce the risks of handling personally identifiable information (PII)?

A. Cloud Storage
B. Google Cloud Armor
C. Cloud Data Loss Prevention
D. Secret Manager

Answer: C

Explanation: 
Reference:
https://cloud.google.com/blog/products/gcp/take-charge-of-your-sensitive-data-with-the-cloud-dlp-api
Cloud Data Loss Prevention: Fully managed service designed to help you discover, classify, and protect your most sensitive data.

NEW QUESTION 79
- (Exam Topic 1)
Your organization is moving an application to Google Cloud. As part of that effort, it needs to migrate the application’s working database from another cloud
provider to Cloud SQL. The database runs on the MySQL engine. The migration must cause minimal disruption to users. Data must be secured while in transit.
Which should your organization use?

A. BigQuery Data Transfer Service
B. MySQL batch insert
C. Database Migration Service
D. Cloud Composer

Answer: C

Explanation: 
Reference: https://aws.amazon.com/dms/

NEW QUESTION 80
- (Exam Topic 1)
What would provide near-unlimited availability of computing resources without requiring your organization to procure and provision new equipment?

A. Public cloud
B. Containers
C. Private cloud
D. Microservices

Answer: A

Explanation: 
Reference: https://cloud.google.com/docs/overview

NEW QUESTION 81
- (Exam Topic 1)
A video game organization has invested in cloud technology to generate insights from user behaviors. They want to ensure recommendations of games are
aligned to players' interests. What may have prompted this business decision?

A. Customers expect faster time to market for games.
B. Employees expect source code changes to be deployed faster.
C. Customers expect a personalized experience.
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D. Employees expect more predictable data management spending.

Answer: C

Explanation: 
Because in the cloud era, users expect more personalization and customization.

NEW QUESTION 86
- (Exam Topic 1)
A multinational retail company has approached you to help design its systems. They have millions of transactions at their point of sale systems across the world
that need to be captured, stored, and analyzed. They are seeing more growth and expect to expand into even more geographies. Which database would be
appropriate for them?

A. Cloud Datastore
B. Cloud Storage
C. Cloud Spanner
D. Cloud SQL

Answer: C

Explanation: 

Cloud Spanner: "Fully managed relational database with unlimited scale, strong consistency, and up to 99.999% availability."
Reference:- https://cloud.google.com/spanner 

NEW QUESTION 88
- (Exam Topic 1)
Your organization is developing a mobile app and wants to select a fully featured cloud-based compute platform for it.
Which Google Cloud product or feature should your organization use?

A. Google Kubernetes Engine
B. Firebase
C. Cloud Functions
D. App Engine

Answer: B

Explanation: 
Reference: https://cloud.google.com/appengine
Firebase is Google's mobile development platform that empowers you to quickly build and grow your app

NEW QUESTION 90
- (Exam Topic 1)
A customer has new applications to build that has to handle both batch data and streaming data. Which product should they choose?

A. Dataprep
B. Dataflow
C. Dataproc
D. Data Fusion

Answer: B

Explanation: 
Dataflow is the managed version of Apache Beam. Beam = Batch + Stream. Unified stream and batch data processing that's serverless, fast, and cost-effective.
Graphical user interface, text, application, email Description automatically generated
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Reference link- https://cloud.google.com/dataflow

NEW QUESTION 93
- (Exam Topic 1)
You are a program manager for a team of developers who are building an event-driven application to allow users to follow one another’s activities in the app. Each
time a user adds himself as a follower of another user, a write occurs in the real-time database.
The developers will develop a lightweight piece of code that can respond to database writes and generate a notification to let the appropriate users know that they
have gained new followers. The code should integrate with other cloud services such as Pub/Sub, Firebase, and Cloud APIs to streamline the orchestration
process. The application requires a platform that automatically manages underlying infrastructure and scales to zero when there is no activity.
Which primary compute resource should your developers select, given these requirements?

A. Google Kubernetes Engine
B. Cloud Functions
C. App Engine flexible environment
D. Compute Engine

Answer: B

Explanation: 
Reference: https://firebase.google.com/docs/functions/use-cases
Graphical user interface, text, application, email Description automatically generated

NEW QUESTION 94
- (Exam Topic 1)
Which of the following NIST Cloud characteristics uses the business model of shared re-sources in a cloud
environment?

A. Elasticity
B. Availability
C. Broad Network Access
D. Multi-Tenancy

Answer: D

Explanation: 

In cloud computing, multitenancy means that multiple customers of a cloud vendor are using the same computing resources. Even though they share resources,
cloud customers aren’t aware of each other, and their data is kept totally separate. Mul-titenancy is a crucial component of cloud computing; without it, cloud
services would be far less practical. Multitenant architecture is a feature in many types of public cloud
com-puting, including IaaS, PaaS, SaaS, containers, and serverless computing.

NEW QUESTION 98
- (Exam Topic 1)
You decide to migrate your on-premises environment to the cloud. You need to determine which resource components still need to be assigned ownership.
Which two functions are owned by a public cloud provider? (Choose two.)

A. Hardware maintenance
B. Infrastructure architecture
C. Infrastructure deployment automation
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D. Hardware capacity management
E. Fixing application security issues

Answer: AD

Explanation: 
In a shared responsible model, hardware maintence and capacity management cloud provider is the responsible part.

NEW QUESTION 101
- (Exam Topic 1)
Your organization needs to minimize how much it pays for data traffic from the Google network to the internet. What should your organization do?

A. Choose the Standard network service tier.
B. Choose the Premium network service tier.
C. Deploy Cloud VPN.
D. Deploy Cloud NAT.

Answer: A

Explanation: 
Choose the Standard network service tier. While Premium tier is the default for all egress traffic and offers the highest performance, when cost is a consideration.
Standard tier is the more economical.
Text, letter Description automatically generated

https://cloud.google.com/blog/products/networking/networking-cost-optimization-best-practices 

NEW QUESTION 103
- (Exam Topic 1)
Your Google Cloud Platform [GCP] admin has to manage a bunch of API keys for external services that are accessed by different applications, which are used by
a few teams. What is the best way to manage them?

A. Share the information in a Github repository and grant access to the repo in IAM as required.
B. Store the information in Secret Manager and give IAM read permissions as re-quired.
C. Store the information in Kubernetes Secrets and only grant read permissions to users as required.
D. Encrypt the information and store it in Cloud Storage for centralized acces
E. Give the decrypt key only to the users who need to access it.

Answer: B

Explanation: 
Store the information in Secret Manager is a secure and convenient storage system for API keys, passwords, certificates, and other sensitive data. Secret
Manager provides a central place and single source of truth to manage access, and audit secrets across Google Cloud.
https://cloud.google.com/secret-manager

NEW QUESTION 104
- (Exam Topic 1)
An organization with hybrid cloud architecture wants to build an application once and be able to run it both on-premises and in their public cloud. Which Google
Cloud solution should the organization use?

A. Cloud Functions
B. App Engine
C. Compute Engine
D. Anthos

Answer: D

Explanation: 
Anthos allows organizations to build an application once and run it anywhere.
Migrate directly from VMs, Build, deploy, and optimize apps on GKE, Anthos serverless landing zones and VMs anywhere-simply, flexibly, and securely
A picture containing text Description automatically generated
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Reference Link- https://cloud.google.com/anthos

NEW QUESTION 106
- (Exam Topic 3)
An organization delivers a proactive healthcare service. They want to efficiently and automatically collect patient data.
What should the organization encourage the patients to do?

A. Use at-home health screening devices and then upload their health data daily
B. Wear Internet of Things (IoT) devices that upload their health data in real time
C. Self-assess their health data and then document and upload it in real time
D. Visit a nurse who will use Internet of Things (IoT) devices to collect and upload their health data

Answer: B

NEW QUESTION 109
- (Exam Topic 3)
An organization wants full control of their virtual machine infrastructure for a custom home-grown application with a product that autoscales and automatically
updates.
Which Google Cloud product or solution should the organization use?

A. Cloud Build
B. Cloud Run
C. Compute Engine
D. App Engine

Answer: C

Explanation: 
Compute Engine will allow you to have full control of their VM infrastructure and you can autoscale and also apply automatic updates.

NEW QUESTION 114
- (Exam Topic 3)
An online retail organization wants to optimize their service.
What is an example of unstructured data that they can use to make decisions?

A. Customer survey comments
B. Seller location coordinates
C. Product sales trends
D. Warehouse inventory records

Answer: A

Explanation: 
 https://cloud.google.com/storage/docs/requester-pays 

NEW QUESTION 118
- (Exam Topic 3)
An organization relies on online seasonal sales for the majority of their annual revenue. Why should the organization use App Engine for their customer app?

A. Automatically adjusts physical inventory in real time
B. Autoscales during peaks in demand
C. Runs maintenance during seasonal sales
D. Recommends the right products to customers

Answer: B

NEW QUESTION 119
- (Exam Topic 3)
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An organization has decided to modernize their applications in the cloud to keep up with their customers' needs.
What may have prompted this business decision?

A. Their on-premises applications only autoscale to meet demand.
B. They want to change from a pay-as-you-go model to a capital expenditure model.
C. Their source code changes erroneously without developer interaction.
D. Their on-premises applications take months to update and deploy.

Answer: D

NEW QUESTION 122
- (Exam Topic 2)
A customer is migrating there on-promises data analytics solution to Google Cloud. The current solution has a lot of data being read form and written to disk. The
performance of this approach has occasionally been a bottleneck for a scale of operations that your cus-tomer has. The application is fault tolerant and can with
stand machine going down fre-quently. In moving to Google Cloud they are asking your advice on any way to improve performance?

A. Use Big Query Which has very fast data access and analysis
B. Use Cloud Storage which can be central, scalable storage
C. Use local SSDs with the VMs
D. Use Persistent Disk with the VMs

Answer: C

Explanation: 
Local SSDs are attached to the VM and have very high throughput. However, when the VM shuts down, The local SSD is also shut down, Since our Workload
here is foult tolerant, than is not an issue.

NEW QUESTION 124
- (Exam Topic 2)
Your customer is moving from AWS to Google Cloud. Data also needs to be moved. There is about 50TB of data. On AWS, the data resides in an S3 bucket. It is
going to be moved to Cloud Storage. Data is also being continuously generated on S3 prior to the cutover. It is preferable that this is also periodically transferred.
What is the best way to move the data?

A. Use the gsutil command-line option
B. Use the Google Cloud console to drag and drop the files easily
C. Use the Storage Transfer Service
D. Use a Transfer Appliance

Answer: C

Explanation: 
Storage Transfer Service provides options that make data transfers and synchronization easier. We can also schedule one-time transfer operations or recurring
transfer operations.
Text Description automatically generated

Reference link- https://cloud.google.com/storage-transfer/docs/overview
Reference linkhttps://cloud.google.com/architecture/transferring-data-from-amazon-s3-to-cloud-storage-using-vpc-service-c

NEW QUESTION 128
- (Exam Topic 2)
Virtual Machine vCPU and memory usage for each of these categories can receive one of the following discounts? (Select Three Answer)

A. Military Discounts
B. Spot Instances
C. Committed-Use
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D. Sustained-Use
E. Preemptible VMs

Answer: CDE

Explanation: 
Sustained, Committed and Preemptible
vCPU and memory usage for each of these categories can receive discounts VM vCPU and memory usage for each of these categories can receive discounts
Sustained-use discounts—Google offers up to 30% off for workloads that run for most of the billing month on GCP services.
Committed-use discounts—users can save up to 57% by committing to use an instance for a certain time period, with no upfront payment and with the flexibility to
change instances during the commitment period.
Preemptible VMs—similar to the concept of AWS spot instances, Google offers up to 79% off for Virtual Machines that may be shut down at any time and replaced
by others.
Reference link- https://cloud.google.com/compute/docs/sustained-use-discounts
Reference link– https://cloud.google.com/compute/docs/instances/signing-up-committed-use-discounts
Reference link– https://cloud.google.com/compute/docs/instances/preemptible

NEW QUESTION 131
- (Exam Topic 2)
One of your customers used to have a private data center. While within their data center itself, they were consuming some Google services via API calls and other
public, well-known addresses pub-lished by Google. Now they're evacuating their private data center and are moving to Google Cloud. Could they improve some
of their existing architecture with respect to security?

A. Use VPC Peering with the Google Cloud organization so that you can directly use services using only private IPs.
B. Use private addresses onl
C. No additional configuration is require
D. All Google services will be accessible within Google Cloud on private addresses.
E. Use Shared VPCs with the Google Cloud organization so that you can directly use services using only private IPs.
F. Enable Private Google Access so that they can remove public IP addresses.

Answer: D

Explanation: 
"VM instances that only have internal IP addresses (no external IP addresses) can use Private Google Access. They can reach the external IP addresses of
Google APIs and services. f you disable Private Google Access, the VM instances can no longer reach Google APIs and services; they can only send traffic within
the VPC network."
Graphical user interface, text, application Description automatically generated

https://cloud.google.com/vpc/docs/private-google-access

NEW QUESTION 136
- (Exam Topic 2)
Which of the following is true while creating a boot persistent disk from a snapshot.

A. You cannot apply a snapshot to an existing persistent disk, or apply a snapshot to persistent disks that belong to a different project than that snapshot.
B. It is only possible to apply data from a snapshot when you first create a persistent disk.
C. After you create a snapshot of a boot persistent disk, you can apply data from that snapshot to new persistent disks.
D. All of the above.

Answer: D

Explanation: 
When you create a virtual machine (VM) instance, you must also create a boot disk for the VM. You can use a public image, a custom image, or a snapshot that
was taken from another boot disk. When you create a boot disk, limit the disk size to 2 TB to account for the limitations of MBR partitioning.
Compute Engine automatically creates a boot persistent disk when you create an instance. If you require additional data storage space for your instances, add one
or more secondary instance storage options.
You might need to create a standalone boot persistent disk and attach it to an instance later, or resize a boot persistent disk to improve performance and add more
space for additional applications or operating system files. That process is described in Add or resize a persistent disk.
As a best practice, do not use regional persistent disks for boot disks. In a failover situation, they do not force-attach to a VM.
After you create a snapshot of a boot persistent disk, you can apply data from that snapshot to new persistent disks. It is only possible to apply data from a
snapshot when you first create a persistent disk. You cannot apply a snapshot to an existing persistent disk, or apply a snapshot to persistent disks that belong to
a different project than that snapshot.
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NEW QUESTION 141
- (Exam Topic 2)
You are working in a company that provides different services to its customer. Now it also wants to offer some paid API services to its B2B customers for e.g.
google provides google maps API, cloud vision API, and language translation API. You need to figure out the best solution for the service.

A. Java Programming Spring Boot Framework for to solve the problem of APIs man-agement.
B. Cloud Functions with Firestore and payment gateways integration development.
C. Apigee API Management
D. Frontend & Backend Development with NodeJs and angular etc.

Answer: C

Explanation: 
A top-level idea about Apigee API Management and its offered features can help you solve all questions related to Apigee in Cloud Digital Leader Practice Exam.
Apigee is a platform for developing and managing APIs. By fronting services with a proxy layer, Apigee provides an abstraction or facade for your backend service
APIs and provides security, rate limiting, quotas, analytics, and more.
Apigee services: The APIs that you use to create, manage, and deploy your API proxies.
Apigee runtime: A set of containerized runtime services in a Kubernetes cluster that Google maintains. All API traffic passes through and is processed by these
services.

NEW QUESTION 146
- (Exam Topic 2)
What are the different storage & database services in GCP? Which is Google cloud storage and da-tabase below the option

A. Persistent Disk
B. Cloud SQL.
C. Cloud Bigtable
D. Cloud Spanner
E. All of the Above

Answer: E

Explanation: 
Graphical user interface, text, application Description automatically generated

NEW QUESTION 149
- (Exam Topic 2)
Which Firebase quality tools help the developer track, prioritize & fix stability issues that erode the application quality?

A. Performance
B. App Distribution
C. Crashlytics
D. Test Lab

Answer: C

Explanation: 
 Firebase Crashlytics:
Get clear, actionable insight into app issues with this powerful crash reporting solution for iOS, Android, and Unity.
Firebase Crashlytics is a lightweight, real-time crash reporter that helps you track, prioritize, and fix stability issues that erode your app quality. Crashlytics saves
you troubleshooting time by intelligently grouping crashes and highlighting the circumstances that lead up to them.
Find out if a particular crash is impacting a lot of users. Get alerts when an issue suddenly increases in severity. Figure out which lines of code are causing
crashes.

NEW QUESTION 151
- (Exam Topic 2)
Which of the following is / are true for Preemptible Instances.

A. Preemptible Instances have no Service Level Agreement (Compute Engine SLA).
B. Google Cloud Free Tier credits for compute engine do not apply to preemptible in-stances.
C. Preemptible instances can't live migrate to a regular VM instance, or be set to au-tomatically restart when there is a maintenance event.
D. All of the above.

Answer: D
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Explanation: 
Preemptible instances function like normal instances but have the following limitations:
-> Compute Engine might stop preemptible instances at any time due to system events. The probability that Compute Engine will stop a preemptible instance for a
system event is generally low, but might vary from day to day and from zone to zone depending on current conditions.
-> Compute Engine always stops preemptible instances after they run for 24 hours. Certain actions reset this 24-hour counter.
-> Preemptible instances are finite Compute Engine resources, so they might not always be available.
-> Preemptible instances can't live migrate to a regular VM instance, or be set to automatically restart when there is a maintenance event.
-> Due to the above limitations, preemptible instances are not covered by any Service Level Agreement (and, for clarity, are excluded from the Compute Engine
SLA).
-> The Google Cloud Free Tier credits for Compute Engine do not apply to preemptible instances. 

NEW QUESTION 154
- (Exam Topic 2)
An application has become very popular and the number of requests/users is increasing quickly. There is a meeting to figure out how to scale the systems so that
they can accept user requests and still have the capacity to spare. What is the preferred option?

A. Circular Scaling takes a round-robin approach to allocate and destroy VMs.
B. Triangular Scaling takes an automated average of Cost, Effort, and Time.
C. Vertical Scaling
D. Horizontal Scaling

Answer: D

Explanation: 
Horizontal scaling, also called scaling out, adds new VMs to increase application capacity.

NEW QUESTION 159
- (Exam Topic 2)
Which of the following methods should you use when you require a dynamic way of provisioning VMs on Compute Engine when it is observed that the exact
specifications will be in a dedicated configuration file and you want to follow Google’s recommended practices.

A. Managed Instance Group
B. Deployment Manager
C. Cloud Composer
D. Unmanaged Instance Group

Answer: B

Explanation: 
The question is about a dynamic way to provision VM, it can be achieved by a Deployment manager or by using terraform. MIG is creating multiple machines
based on templates by load balancing

NEW QUESTION 164
- (Exam Topic 2)
certain devices for cracks, rust, etc. Some of these issues are difficult to identify for a human and your company has seen increasing customer complaints - the
customer has paid for an inspection and the field agent said there was no problem, but it later turned out there actually was. The team has come up with a
proposal to engage AI to identify issues. On evaluating the existing system, it is seen that the mobile phone network connection is not good or consistent. What
solution can work for them?

A. Use AutoML Vision Edge models.
B. Use the Rust programming language instead of Python to identify issues like rust.
C. Use Cloud TPUs which will be able to do the analysis faster on the clou
D. Thus re-sponses also will be fast.
E. Use TensorFlow to create custom models and deploy it as TensorFlow Lite mod-els.

Answer: A

Explanation: 
AutoML Vision Edge model can be deployed to one of several types of edge devices, such as mobile phones,
ARM-based devices, and the Coral Edge TPU
https://cloud.google.com/vision/automl/docs/edge-quickstart

NEW QUESTION 169
- (Exam Topic 2)
What is a key difference between VMs and containers?

A. Virtual Machines take less time to launch; containers take longer to launch.
B. Virtual Machines can only run Linux; containers can run any operating system.
C. Virtual Machines use a shared operating system and are therefore lighter; containers are heavier on resources.
D. Each Virtual Machine in a machine has its own operating system; containers will share the same operating system.

Answer: D

Explanation: 
VMs have their individual OSs. All containers on a node use the host operating system.

NEW QUESTION 172
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- (Exam Topic 2)
An e-commerce company's business has been booming. To keep up with the growth the IT team also grew. Many new people are being added and new resources
are being set up. The CIO is in conver-sation with you over coffee one day and expresses her growing concern that they might be moving too fast. Their security
checks and policies have not kept pace. She worries that somebody would make a misconfiguration or compliance violation thus exposing the company to data
and privacy loss. What can you advise her?

A. Use Cloud Identity-Aware Proxy to allow only specific users to access the data.
B. Use Security Command Center to have a centralized view of assets and get noti-fied on misconfigurations and vulnerabilities.
C. Use Cloud Data Loss Prevention to prevent the loss of any data.
D. Use Cloud Armor to block any DDoS attacks that could be a threat.

Answer: B

Explanation: 
Security Command Center is the right tool for this use case. It can check resources for security issues and notify you when issues are found.
https://cloud.google.com/security-command-center

NEW QUESTION 173
- (Exam Topic 2)
You are working with a government agency. A web application serves users of the country. It al-lows citizens to receive certain services in providing their national
identity. Citizens have com-plained that they are seeing delays in web page loading compared to before. On investigating, they are seeing a lot of spurious traffic
coming in from a few IPs which they have identified as for-eign. What should they do?

A. Setup Firewall rules to deny access to the malicious IPs.
B. Setup Cloud Armor and add the malicious IPs to the deny list.
C. Setup Firewall rules to allow access only to the IPs from within the country.
D. Setup Cloud NAT and remove all the internal IPs and replace it with a single public IP.

Answer: B

Explanation: 
Cloud Armor provides DDoS protection for applications. It can also "Filter your incoming traffic based on IPv4 and IPv6 addresses or CIDRs. Enforce geography-
based access controls to allow or deny traffic based on source geo using Google’s geoIP mapping."

NEW QUESTION 176
- (Exam Topic 2)
What cloud service model would you want to select if you want to solve a particular busi-ness problem by providing CRM services in the cloud to your enterprises?

A. CaaS
B. SaaS
C. PaaS
D. IaaS

Answer: B

Explanation: 
SaaS – Software as a Service (SaaS) provides you a complete product that is run and managed by the service provider. You worry only about using the software
and not about infrastructure.
SaaS provides the lowest level of flexibility and management control over the infrastructure. (Example: Google Gsuite and MS O365)

NEW QUESTION 178
- (Exam Topic 2)
What issues can arise when organizations integrate third-party systems into their cloud infrastruc-ture?

A. Third-party systems may not be powerful enough to run many critical business applications.
B. Without sufficient security measures and regular checks, unsecured third-party systems can pose a threat to data security.
C. Over-reliance on third-party systems limits an organization's potential for innova-tion.
D. Third-party systems are less capable of addressing an organization's security re-quirements.

Answer: B

Explanation: 
Because unsecured third-party systems are a cybersecurity threat.

NEW QUESTION 182
- (Exam Topic 2)
A large travel services company has been running all their workloads on Google Cloud in the previous year. They looked at their past usage of cloud resources
and see that there is a consistent use of 10,000 virtual machines throughout the year. Based on the projections for the following year they have a strong indication
that they will use at least this much or more capacity within Google Cloud. What is one way in which they can take advantage of this knowledge?

A. They can use these numbers to negotiate a better contract with another public cloud number.
B. They can cut costs by cutting down on the number of VMs used.
C. They can get into a committed use contract with Google Cloud to get a significant discount on the usage of VMs.
D. They can ask for a sustained use discount.

Answer: C

Explanation: 
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Compute Engine lets you purchase committed use contracts in return for deeply discounted prices for VM usage. These discounts are referred to as committed
use discounts. Committed use discounts are ideal for workloads with predictable resource needs. When you purchase a committed use contract, you purchase
Compute Engine resources—such as vCPUs, memory, GPUs, local SSDs, and sole-tenant nodes—at a discounted price in return for committing to paying for those
resources for 1 year or 3 years. The discount is up to 57% for most resources like machine types or GPUs. The discount is up to 70% for memory-optimized
machine types.

NEW QUESTION 186
- (Exam Topic 2)
What according to you are NOT the key capabilities of In-App Messaging?

A. Target messages accordingly to the change in the behavior pattern of the target audience.
B. Creating customized and flexible alerts
C. Increasing conversion for user-to-user sharing
D. Sending relevant messages to the target audience

Answer: C

Explanation: 
In-App Messaging
Engage active app users with contextual messages.
Firebase In-App Messaging helps you engage users who are actively using your app by sending them targeted and contextual messages that nudge them to
complete key in-app actions - like beating a game level, buying an item, or subscribing to content.

NEW QUESTION 190
- (Exam Topic 2)
In terms of Infrastructure as a Service (IaaS) what are the benefits of it?

A. IaaS offers virtually infinite flexibility and scalability, enterprises can get their work done more efficiently, ensuring faster development life cycles.
B. IaaS resources are regularly available to businesses when they need the
C. As a result, enterprises reduce delays when expanding infrastructure and, alternatively, don’t waste resources by overbuilding capacity.
D. IaaS resources are used on demand and enterprises only have to pay for the compute, storage, and networking resources that are actually used, IaaS costs are
fairly predictable and can be easily contained and budgeted for.
E. All of the Above

Answer: D

Explanation: 
These are the feature of Infrastructure as a Service (IaaS) It’s economical
Because IaaS resources are used on demand and enterprises only have to pay for the compute, storage, and networking resources that are actually used, IaaS
costs are fairly predictable and can be easily contained and budgeted for.
It’s efficient
IaaS resources are regularly available to businesses when they need them. As a result, enterprises reduce delays when expanding infrastructure and,
alternatively, don’t waste resources by overbuilding capacity.
It boosts productivity
Because the cloud provider is responsible for setting up and maintaining the underlying physical infrastructure, enterprise IT departments save time and money
and can redirect resources to more strategic activities.
It’s reliable
IaaS has no single point of failure. Even if any one component of the hardware resources fails, the service will usually still remain available.
It’s scalable
One of the biggest advantages of IaaS in cloud computing is the capability to scale the resources up and down rapidly according to the needs of the enterprise.
It drives faster time to market
Because IaaS offers virtually infinite flexibility and scalability, enterprises can get their work done more efficiently, ensuring faster development life cycles.

NEW QUESTION 192
- (Exam Topic 2)
Your Coustomer's Organization has decided to move to the cloud. They currently run VMs on-promise but their goal on Google cloud is to run containers, primarily
on Google Kuber-nete's Engine. They have a lease for their private data center for another year that they have already paid for. What could be strategy they could
adopt in migrating?

A. Jump and Ramp.
B. Improve and Move.
C. Rip and Replace.
D. Left and Shift.

Answer: B

Explanation: 
Since they have already paid for data center for another year. They have the time and resources to work with,
They can make the change to their workloads locally/on-promise Improve and Migrate Move to Google
Cloud later on.

NEW QUESTION 196
- (Exam Topic 2)
You are a database manager working for a new product that will need millions of reading and writ-ing from the database, with zero downtime, key-value i.e. NoSQL
features, no manual steps should be required to
ensure consistency, repair data, synchronize writes and deletes, Which of the follow-ing database you choose?

A. Cloud SQL
B. Cloud BigTable
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C. Cloud Spanner
D. Cloud Firestore

Answer: B

Explanation: 

Cloud BigTable Key features
High throughput at low latency
Bigtable is ideal for storing very large amounts of data in a key-value store and supports high read and write throughput at low latency for fast access to large
amounts of data. Throughput scales linearly—you can increase QPS (queries per second) by adding Bigtable nodes. Bigtable is built with proven infrastructure that
powers Google products used by billions such as Search and Maps.
Cluster resizing without downtime
Scale seamlessly from thousands to millions of reads/writes per second. Bigtable throughput can be dynamically adjusted by adding or removing cluster nodes
without restarting, meaning you can increase the size of a Bigtable cluster for a few hours to handle a large load, then reduce the cluster's size again—all without
any downtime.
Flexible, automated replication to optimize any workload
Write data once and automatically replicate where needed with eventual consistency—giving you control for high availability and isolation of reading and write
workloads. No manual steps are needed to ensure consistency, repair data, or synchronize writes and deletes. Benefit from a high availability SLA of 99.999% for
instances with multi-cluster routing across 3 or more regions (99.9% for single-cluster instances).

NEW QUESTION 201
- (Exam Topic 3)
An organization is altering their gaming product so that it is compatible with cloud technology. What can they expect when moving from traditional technology to
cloud technology?

A. No change to existing responsibilities
B. A shift toward OpEx
C. A shift toward using structured data
D. Increased hardware maintenance

Answer: B

NEW QUESTION 205
- (Exam Topic 3)
When an organization adopts cloud technology, how does their total cost of ownership (TCO) shift?

A. Away from cost management toward capital expenditure
B. Away from operational expenditure toward cost management
C. Away from capital expenditure toward operational expenditure
D. Away from operational expenditure toward capital expenditure

Answer: C

NEW QUESTION 209
- (Exam Topic 3)
An organization wants to build an entirely new infrastructure and applications in the cloud. Which application modernization approach should the organization use?

A. Move the application to the cloud, and then change it.
B. Change their application, and then move it to the cloud.
C. Invent in greenfield.
D. Invent in brownfield.

Answer: C

Explanation: 
A Greenfield approach is a brand-new implementation , where companies then add their needed configurations and customizations. This approach provides a
clean slate to start from, does not carry over needless customizations and technical debt, and provides a solid foundation for business process re-engineering.
A greenfield deployment is the design, installation and configuration of computer infrastructure where none existed before, for example, in a new office. In contrast,
a brownfield deployment is an upgrade or addition to existing infrastructure using legacy components.

NEW QUESTION 214
- (Exam Topic 3)
An organization needs to categorize a large group of photographs using pre-trained machine learning. Which Google Cloud product or service should the
organization use?

A. Vision API
B. BigQuery ML
C. AutoML Vision
D. Looker

Answer: A

Explanation: 
https://cloud.google.com/vision

NEW QUESTION 217
- (Exam Topic 3)
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An organization's web developers and operations personnel use different systems. How will increasing communication between the teams reduce issues caused
by silos?

A. By assigning blame for failures and establishing consequences
B. By combining job role responsibilities to ensure that everyone has shared access
C. By increasing data encryption to strengthen workflows
D. By emphasizing shared ownership of business outcomes

Answer: D

NEW QUESTION 220
- (Exam Topic 3)
An organization wants to use BigQuery data analytics to understand their website performance, but wants to move only some data into the cloud.
Which environment should the organization use?

A. Private cloud
B. On-premises
C. Multi-cloud
D. Hybrid cloud

Answer: D

Explanation: 
The assumption should be made that there is still a private network involved. Hybrid clouds always include a private cloud and are typically managed as one entity.
Multi-clouds always include more than one public cloud service, which often perform different functions.

NEW QUESTION 225
- (Exam Topic 3)
An organization wants to move from a tactical cloud adoption approach to a transformational approach. How should they change their cloud security?

A. Provide staff identities using only Google Cloud authentication.
B. Provide multiple layers of network security using a zero-trust model.
C. Emphasize strong perimeter security and trust in their private network.
D. Emphasize three main Identity Access Management roles: owner, editor, and viewer.

Answer: B

NEW QUESTION 228
- (Exam Topic 3)
What does Cloud Logging help an organization do?

A. Analyze live source code and log code updates.
B. Deploy infrastructure as code.
C. Analyze logs and accelerate application troubleshooting.
D. Manage storage of custom VM images.

Answer: C

NEW QUESTION 233
- (Exam Topic 3)
How does Cloud SQL help organizations create business insights?

A. Integrates with business intelligence and analytics platforms
B. Generates predictions using machine learning models
C. Generates real-time charts and intelligent analytics
D. Transforms business data from unstructured to structured

Answer: A

Explanation: 
https://cloud.google.com/sql/docs/postgres/using-query-insights 

NEW QUESTION 235
- (Exam Topic 3)
How is service availability measured in the context of cloud technology?

A. Number of available regions
B. Percentage of uptime
C. Speed of response time
D. Number of downtime incidents

Answer: B

NEW QUESTION 240
- (Exam Topic 3)
An organization needs to categorize text-based customer reviews on their website using a pre-trained machine learning model.
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Which Google Cloud product or service should the organization use?

A. Cloud Natural Language API
B. Dialogflow
C. Recommendations AI
D. TensorFlow

Answer: A

Explanation: 
https://cloud.google.com/natural-language
Use entity analysis to find and label fields within a document—including emails, chat, and social media—and then sentiment analysis to understand customer
opinions to find actionable product and UX insights.

NEW QUESTION 241
- (Exam Topic 3)
An organization notices that some of their cloud expenditures are too high. What should the organization do to control costs?

A. Streamline the hardware procurement process to reduce costs.
B. Share cost views with the departments to establish more accountability.
C. Change the cost model from operational expenditure to capital expenditure.
D. Ensure that all could resources are tagged with a single tag.

Answer: B

NEW QUESTION 246
- (Exam Topic 3)
Why do organizations often struggle to scale their on-premises application infrastructure?

A. Scaling compute instances could breach compliance and/or regulation
B. Increasing compute capacity is time-consuming and costly
C. Their serverless compute functions struggle to meet the demand
D. Their multi-cloud architecture is complex and expensive

Answer: B

NEW QUESTION 247
- (Exam Topic 3)
Which technology allows organizations to run multiple computer operating systems on a single piece of physical hardware?

A. Hypervisor
B. Containers
C. Serverless computing
D. Open source

Answer: A

NEW QUESTION 248
- (Exam Topic 3)
An organization needs to search an application's source code to identify a potential issue. The application is distributed across multiple containers.
Which Google Cloud product should the organization use?

A. Google Cloud Console
B. Cloud Trace
C. Cloud Monitoring
D. Cloud Logging

Answer: B

Explanation: 
Cloud Trace is supposed to be the correct answer. It's an application performance management tool. It's a Google solution for monitoring application performance.
It is a distributed tracing system that helps developers debug or fix and optimize their code

NEW QUESTION 249
- (Exam Topic 3)
What is monitoring within the context of cloud operations?

A. Observing cloud expenditure in real time to ensure that budgets are not exceeded
B. Collecting predefined and custom metrics from applications and infrastructure
C. Tracking user activities to guarantee compliance with privacy regulations
D. Tracing user location to document regional access and utilization

Answer: B

NEW QUESTION 254
- (Exam Topic 3)
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What is an example of structured data that a healthcare facility stores in their system?

A. X-ray images
B. Surgery video recordings
C. Blood pressure history
D. Physician-written notes

Answer: C

Explanation: 
Physical measures like height, weight, blood pressure, blood type, and stage of the disease can be recorded numerically and they are structured.

NEW QUESTION 255
- (Exam Topic 3)
An organization needs to run frequent updates for their business app. Why should the organization use Google Kubernetes Engine (GKE)?

A. Customer expectations can be adjusted without using marketing tools
B. Seamless changes can be made without causing any application downtime.
C. GKE handles version control seamlessly and out of the box
D. GKE is well suited for all monolithic applications

Answer: B

Explanation: 
https://cloud.google.com/architecture/migrating-a-monolithic-app-to-microservices-gke 

NEW QUESTION 260
- (Exam Topic 3)
What is logging within the context of cloud technology?

A. Writing application and operating system events as text
B. Monitoring network and resource limitations
C. Tracking source code across an organization
D. Recording infrastructure and hardware expenditure

Answer: A

Explanation: 
Cloud Logging is a fully managed service that allows you to store, search, analyze, monitor, and alert on logging data and events from Google Cloud and Amazon
Web Services

NEW QUESTION 262
- (Exam Topic 3)
An organization operates their entire IT infrastructure from Google Cloud. What should they do to prepare for data breaches?

A. Reduce reliance on multi-factor authentication
B. Data security is Google's responsibility, so preparation is minimal
C. Create an incident plan to mitigate impacts
D. Strengthen their data center perimeter security

Answer: C

NEW QUESTION 265
- (Exam Topic 3)
An organization is migrating their business applications from on-premises to the cloud. How could this impact their operations and personnel costs?

A. Reduced on-premises infrastructure management costs
B. Increased on-premises hardware maintenance costs
C. Reduced cloud software licensing costs
D. Increased cloud hardware management costs

Answer: A

NEW QUESTION 266
- (Exam Topic 3)
An organization provides a loyalty program for its customers. It recently partnered with other businesses so that customers can get loyalty points at a range of
other stores.
Why should the organization use application programming interfaces (APIs)?

A. To migrate all partner data for disaster recovery
B. To analyze and publish loyalty program statistics to a dashboard
C. To personalize recommendations for loyalty card users
D. To connect third-party systems to ensure up-to-date information

Answer: D
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NEW QUESTION 269
- (Exam Topic 3)
How can a streaming service meet global compliance requirements using the cloud?

A. By automatically encrypting personally identifiable information
B. By obtaining a business license to operate in a new market
C. By allowing users to disable two-factor authentication
D. By adhering only to data polices of the country in which the head office is registered

Answer: A

NEW QUESTION 274
- (Exam Topic 3)
An organization is planning its cloud expenditure. What should the organization do to control costs?

A. Consider cloud resource costs as capital expenditure in annual planning.
B. Use only cloud resources; they have no cloud infrastructure costs.
C. Review cloud resource costs frequently because costs depend on usage.
D. Assess cloud resources costs only when SLO is not met by their cloud provider.

Answer: C

NEW QUESTION 276
- (Exam Topic 3)
An organization recently launched a virtual customer support agent, generating vast amounts of text and speech data.
Why should they use a cloud data warehouse to interpret this data?

A. To natively visualize both types of data using a dashboard in real time
B. To ingest and analyze structured and unstructured data at scale, in real time
C. To secure data transmission between cloud and on-premises environments
D. To transform data from structured to unstructured

Answer: B

Explanation: 
Real-time data ingestion and updates. A simple and universal solution for continually ingesting your enterprise data into popular cloud-based data warehouses in
real time.
https://www.qlik.com/us/cloud-data-migration/cloud-data-warehouse

NEW QUESTION 277
- (Exam Topic 3)
An organization is moving away from an on-premises infrastructure. Instead, they want to create, access, and share information virtually in the cloud.
What should the organization consider?

A. Built-in security when moving their data to the cloud
B. Replacing their perimeter security with data encryption keys
C. Optimizing cost-management with a capital expenditure model
D. Increased hardware capacity when moving their data to the cloud

Answer: A

NEW QUESTION 279
- (Exam Topic 3)
A retail company stores their product inventory in a legacy system. Often, customers find products on the company's website and want to purchase them in-store.
However, when they arrive, they discover that the products are out of stock.
How could the company benefit from using an application programming interface (API)?

A. To create personalized product recommendations for customers
B. To optimize their on-premises legacy system stability
C. By manually linking each inventory system to the website on a case-by-case basis
D. By programmatically connecting the inventory system to their website

Answer: D

Explanation: 
By programmatically connecting the inventory system to their website The issue is the website shows an item is available at the store, but when the customer gets
to the store, they find out that item is out of stock.

NEW QUESTION 284
- (Exam Topic 3)
An employee receives an email from their internet service provider asking for their bank account number and password.
Which cybersecurity threat is this?

A. Ransomware
B. Distributed Denial of Service
C. Spamming
D. Phishing
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Answer: D

Explanation: 
The difference between spam and phishing is that, while they both may be inbox-clogging nuisances, only one (phishing) is actively aiming to steal login
credentials and other sensitive data. Spam is a tactic for hawking goods and services by sending unsolicited emails to bulk lists

NEW QUESTION 287
- (Exam Topic 3)
An organization needs to store structured, semi-structured, and unstructured data in its raw, native format in the same repository.
Which cloud data management solution should the organization use?

A. Data field
B. Data lake
C. Database
D. Data warehouse

Answer: B

Explanation: 
A data lake can store all types of data with no fixed limitation on account size or file and with no specific purpose defined yet. The data comes from disparate
sources and can be structured, semi-structured, or even unstructured. Data-lake data can be queried as needed.
https://cloud.google.com/learn/what-is-a-data-lake
A data lake is a centralized repository designed to store, process, and secure large amounts of structured, semistructured, and unstructured data. It can store data
in its native format and process any variety of it, ignoring size limits.

NEW QUESTION 288
- (Exam Topic 3)
An organization is searching for an open-source machine learning platform to build and deploy their own custom machine learning applications using TPUs.
Which Google Cloud product or service should the organization use?

A. TensorFlow
B. BigQuery ML
C. Vision API
D. AutoML Vision

Answer: A

Explanation: 
https://en.wikipedia.org/wiki/TensorFlow TensorFlow is a free and open-source software library for machine learning and artificial intelligence. Developer Google
Brain Team

NEW QUESTION 291
......
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